Slip-On Line (Chrome)

Product code: S-HDSTSO1-HC

Pay your Softail the ultimate compliment with an Akrapovi¢ Slip-On exhaust system. This
classic, legendary Harley-Davidson design now comes with an aftermarket Akrapovi¢ exhaust
system that offers more power, less weight, and a unique sound and looks.

The catalytic converter is removable for markets where this is appropriate. The Slip-On features
an optional valve system enabling you to adjust the sound level with a simple switch—no dirty
hands!

The Akrapovi¢ exhaust system noticeably improves power and torque throughout the entire rpm range.

TECHNICAL DATA UNIT STOCK AKRAPOVIC MAX. GAIN
maximum power kW 44.8 at 5000 rpm 46 at 5150 rpm + 1.5 at 5100 rpom
HP (m) 60.9 at 5000 rpm 62.6 at 5150 rpm + 2 at 5100 rpm
HP (i) 60.1 at 5000 rpm 61.7 at 5150 rpm + 2 at 5100 rpm
maximum torque Nm 110.7 at 2950 rpm 113.6 at 3050 rpm + 3.3 at 3050 rpm
Ib-ft 81.6 at 2950 rpm 83.8 at 3050 rpm + 2.4 at 3050 rpm
weight kg 9.5 5.2 -4.3
Ib 20.9 20.9 -9.5
static noise level dB 93 93 0

N AKRAPD



www.akrapovic.com

rpm 2505
measured with: Harley-Davidson Softail FLSTC Heritage Classic 2010

Optional Parts

Product name: Valve system

Product code: P-HDV5

Product name: Catalytic converter Set
Product code: P-KAT-029

2625

+120

N AKRAPOVIC



WARNING! EC TYPE APPROVAL IS NOT VALID
WHEN OPTIONAL VALVE SYSTEM IS INSTALLED!

WARNING! EC TYPE APPROVAL IS VALID ONLY WHEN
OPTIONAL CATALYTIC CONVERTER IS INSTALLED!

.- .. . .. "/
MUFFLER REPAIR KITS BEC R kil ol gt

\&




No. SALES CODE DESCRIPTION QTY.
1 S-HDSTSO1-HC S HD Softail PARALLEL LSMSS HOM Krom 1
2 P-HDV5 LP HD Softail PARALEL Set z vent. OPC. 1
3 P-KAT-029 Katal. Set HD Sports./Dyna/Softail OPC. 1
4 M-HCBG00201SSUC/ [ Mpol. HSO ST PARALLEL S65C S285/50 zg. 1
SP
5 M-HCBG00101SSDC/ | Mpol. HSO ST PARALLEL S65C S285/50 sp. 1
SP
6 V-EC169 SRO zad. SS BGz 72x72 HD DYNA PAR-KROM 2
7 LP-HDST1 LP SS D44,6/65 perf. HD heritage 1
8 LP-HDST3 LP SS D44/65 perf. ST PAR sp. 1
9 P-HSHD4 HS SS spr.zad. LP HD herit+nos-KROM 1
10 |[P-HSHD12DC HS SS LP sp.ST.PAR ses nosi KROM 1
11 |P-R56 objemka SS D70x16 M8x35 2
12 [P-R59 objemka SS D48,5x16 M8x35 2
13 |V-TUV115 vloZzek ses. HOM SS D32/66/D48 kon 1
14 [V-TUV1ie vloZzek ses. HOM SS D32/66/D48 kapa 1
15 (P-FB33 vijak torx leca SS M6x12~ISO7380 4
16 |P-FB40 vijak Sest. prirob SS M6x8,5 S=8 imb S=4 2
17 |P-HF584 montazni set HD plo.logo AKR.70 -KROM 1
18 |P-HF656 montazni set plet.+meh. Opc.HD ST.PAR 1
19 |LP-HDST2 LP SS spr. D45/65 EXUP heritage opc. 1
20 |LP-HDST4 LP SS spod D44/65 EXUP ST.PARALEL opc. 1
21 |P-FB31 vijak torx FE M6x12 1SO014580 CC 2
22 |P-X76 nosi. SS pre opc. switch HD heritage sof 1
23 | P-HF639 mehanizem ventila HD - splosno 1
24 | P-HF631 pletenica ventil EXUP HD her. L=1810mm 1
25 |P-DR41 podlozka SS D10,5/D20x2 DIN125 3
26 |P-RPCK64 MMRCK tip 64 1




	9eeb9a4a3c3a407c9f0b4d6ffb0f0fe2_Generated.pdf
	Sheet 1
	Views
	new_view_3
	new_view_9
	new_view_9

	Zones
	A1




